1.3
(AIBE B6Y)
1.31
FrER XA,
3
3
0 YM,=0
(0] Zy:o
o ZX:O
1.3.2
FrER XA,
3 (0] *1
*1 L. 3
1 !
P )
AV B -
' 1 = 0
N bo1m
| :e’—w
P2\\,E 1m
P3  'D -
9; _________________ P, P, Pj 3 - P;
. P, P C
2m | - T2 s
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KEEFIE>
P1 P2 P3
P1
1 P1
B
A |_\ _________________ -: 2
E ) . i 1m 3 2
5 ’ :e’—znaw 4 P3
; R E 5 P2 .. 0 or
P2 b1 m
F3 v D 1
e .
2m |
[HA4 ]
3 0 M, =0
6] ¢}
[ 8 &[5 58]
11 4 u
Pz “.
P1= 100kN "
e S B
i Pa i
ﬁ -------------------------- _
2m 2m
12 3 VoV,
60 kN
Ha A l B
gay D
T 3m | 3m T
Va Ve
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1 1
13 \VARRVA
3 kN
Ha l B
> A
A —
Tsku
‘l‘ 2m ‘ 2m ‘ 2m ‘I‘
VA VB
14 \VARRVA
8 kN
an° A C
AV A
L o | om T
15 \VARRVA
2 kN
4N l o
Z2m
A Ha B
e —— A
‘I‘ | om 2n n ‘]‘
Va VB
16 \VARRVA
50 kN C
> : -
4m
Ha
-—-—-ﬁ’zéﬁ Bﬁh 1
 25m 2.5m 4
Vi VB
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11 P, P, o)
My, =+100x2-P,x2=0
2P, =100x 2

P, =100[kN]

12 H, Vi

M, =+V,x6-60x3=0
6V, =60x3

V, =30[kN]

Hx  Va A
M,=-V;x6+60x3=0
6V, =60x3
V; =30[kN]

13 Hy Vg
M, =4V, x6-3x4+3x2=0
6V, =6
v, =1kN]

Hya Va A
M,=-V;x6-3x4+3x2=0
-6V, =6
Vg =—1IkN]

14

1
P, =8 = 4[kN]

P, =8x‘f=4\@[kN]
Hs V¢ C
M. =+Vg x4-P x5+P,x0=0
4, -4x5=0
Vg =5[kN]
Hz Vs B
Mg =-V, x4-P x1+P, x0=0
-4V, -4x1=0
Ve = —1kN]
15  H, V, B

M, =4V, x8+4x2-2x2=0
8V, =—4x2+2x2

1
V== kN]

Ha Va A

M, =-Vyx8+2x6+4x2=0
8Vy =2x6+4x2

5
Vy =S IkN]

16 H, Vg B

M, =+V,x5+50x4=0

5V, =-50x4
V, = —40[kN]
Hy V, A

M,=-V;x5+50x4=0
5V, =50x4
Vg =40kN]
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